
 

 

 

 

  

Instructions about the 

Installation 

 

 



 

Instruction about installation of NoName 

Rev. 01 of 01/31/2017 

NO NAME GROUP 

1 

 

  
Legend: 

 

 

 

                    CYLINDER 1. 

 

 

 

 

 

  PRESSURE REDUCER 2.  

 

                                                PNEUMATIC VALVE 3. 



 

Instruction about installation of NoName 

Rev. 01 of 01/31/2017 

NO NAME GROUP 

2 

 

                              QUICK COUPLING 1/8 4.

                                         SCREW TIP 1/8 5.

                                      RITZEN TUBE 6x4 6. 

 



 

Instruction about installation of NoName 

Rev. 01 of 01/31/2017 

NO NAME GROUP 

3 

 

NOT INCLUDED IN KIT 

THE SIZE OF THE PIPELINE* 

                                         NON-RETURN VALVE* 7.         

 

 

                                                                  TAP* 8. 

                                        HYDRAULIC FITTING T* 9. 



 

Instruction about installation of NoName 

Rev. 01 of 01/31/2017 

NO NAME GROUP 

4 

 

 

INCLUDED IN KIT: 

1. Cylinder 

2. Pressure reducer 

3. Pneumatic Valve 

4. Quick Coupling 1/8    x3 

5. Screw Tip 1/8              

6. Ritzen Tube 6x4         x2 

 

NOT INCLUDED IN KIT 

7. Non-returne Valve 

8. Tap                             x2 

9. Hydraulic Fitting T     x2 

 

 

Warning : 

The reductions are needed from the tap at 1/8 

 

Premises: 

 

The No Name must be installed after the pumps. 

It’s must be installed in the Pipeline, you have to enter in the pipeline 

in oreder from pumps: 

 

1. HYDRAULIC FITTING T 

2. NON-RETURN VALVE 

3. HYDRAULIC FITTING T 

 



 

Instruction about installation of NoName 

Rev. 01 of 01/31/2017 

NO NAME GROUP 

5 

 

 

 

Phase A 

 

First Hydraulic Fitting T 

 

 Screw one Tap 8. 

 

 Screw the reduction to 1/8 

 

 Screw the Screw Tip 1/8  

          

 Screw the Pneumatic Valve 

 

 Screw in the Pneumatic Valve (to the left and to the right) two 

Quick Coupling 1/8 

 

 

Phase B 

Second Hydraulic Fitting T 

 Screw one Tap 8. 

 

 Screw the reduction to 1/8 

 

 Screw one Quick Coupling 1/8 

 

 



 

Instruction about installation of NoName 

Rev. 01 of 01/31/2017 

NO NAME GROUP 

6 

 

 

Phase C 

 Put about 15 centimers of Rizten Tube from the Quick Coupling 

in the second Hydraulic Fitting to the Quick Coupling in the left 

of Pneumatic Valve  

 

 Put the Pressur Reducer in Cylinder 

 

 Put about 2 meters of Rizten Tube from the Quick Coupling in 

the right of Pneumatic Valve to the Quick Coupling in the  

Pressure Reducer 

 

 

 

NoName is Installed 

 

 

 

P.S.   
For security check that all the pieces are installed 
do not lose. 
 
  

 


